2
H

10.

£

fiy:

fruas Aftmpet v

:_‘Imfymw 1.2 ]
W& u3T &9 :
(@ 32+15 by 17+(=18)
(c) (=25 +(21) (d) (-8)+(=11)
(&) (-13)+21) N (=19)+(0)
(g) (-85)-(-10) (h) (15)-(6)
(N (45)-(=27) () (-62)-(52)
5t fefepwr & I a9 -
(@ (=3)+7+(-8) (b) (<2)-(-1)-(4)
() 8+(-7)-(-6) (d) (-12)-(=17)+(=25)
H& U39 :
@ 15-(=5)+12+(-8)+(-3) () (=32)—(=11) +(=25)+ 27 =13+ (-7

() 160+ (=150) + (-130) — (=100) (d) 25-(=15)+(=12)+21-65-(-38)
ﬁmﬁh@%ﬁaﬁuw&%@ﬁcﬁaa%ﬁ%uﬁu@ﬁ:

) 10+[(=5+EED)=[(10+(5)] +
(i) 25-10=-10+

() 20+ =15+

(v) (-12)+37=37+
v 13+ |+ 1=13+ED)+

(vi) =17+ =-17

& fuas ffimret @ #iF9 -10 T1 a9 ufost fyes Afimr 17 T 37 gRSt U3 91

93 F gme m@e Mt {35 sarae Tia Aues Afumrer f@w)
mmnﬂ‘,mwmoﬁ‘wwmméﬁ,mn%ufmm@
fog a3 28 8° Wz famr| fos @ ¥aW 3¢ '3 Ius faem /it ?

wiftg & ggwrg f9 W fing e & FBW (bank balance) X (-430) Ht) 8% 2w
2 250 Myt geergeE € Te On v ¥F ¥ W fawT I=er ?
é‘n‘we‘maﬁ‘g‘a’rﬁz?wg’zﬂaﬁnzmoumﬁvemsna"mﬁami‘r@wﬁz%zs
g%%lé"ammmeneadSea)m,‘{eaasﬁ‘1312§‘zz‘r5*€n€ra+ﬂua*fawwﬂaa
y3T J9|

feg gfew f&g 2 A 3 70, - 15, 30 »ia yu3 &3 EH B & -15, 70, 30 »ig Yu3
3 I 2 C & 30,70, —15 ni yruz dt3 | faw 2w € wig vg T <o ws 1 At &t e

Fge 37
g {70
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1. fog yaus f&g 5 vt & 3-3 387

(rounds) ¥& | ATaPHt ZHT Enprgr YT nig Tt

festt 75 | raet yat 33 S ufowT, TR WS ST RETS THE A5 I8 Ay 3
3T 91
B B C D E
m 9 8 F Ty
TEs | 7 e ¥
7§72 3 ; + 0 7
e3ls aw - o
& mig
7873 -2 -5 -3 -5 1
€T 4 6 7 4 3 -2
w3 &9 g5 i
12, W—hﬁ'ghﬂ'!{ﬂ??:-

W) 5)+()=

@ -10 () 5

© 10 d 0
(i) (-10)+(-12) =

(a) -2 (b) 22

© -22 d) 2
(i) (-1)-(~1)=

(@ -2 (b) -1

© 2 @) feost fF a¢t st
(v) Tt fafmt &% faosr qus ama ¥ 7

(@) ¥ nYas At e Aaes @ foxr fyas ffowr 3

(b) AEHT AUTE After=t e I b B a+ b=b + 4,

(©) € Ayas Afiewet o wige & fear fyas ffiowr ger 3

(d) AYEs Afiret & we§ B9 o weteeT o e 3
(v) 35 fafour @9 faoa mat 3

@ N-B3)=3-(-7)

(b) (N+3=3+(-7)

©  (D+IG)+ 3] =[(-1)+(5)] - (-3)

d) fegt fJ¥ &t st



2 Exercise-1.2 )
1, Find the value of

(@) 32+15 B 17+(=18)
(©) (<25 +(@21 (d) (-8)+(~11)
(€) (-13)+21) N (=19)+(0)
(@) (-85)-(-10) (h) (15)-(6)
M @H-27) N (=62)-(52)
2. Solve the following
(@) (3)+7+(-8) B )-(-D-@
© 8+(=7-(-6) (d) (=12)=(=17) +(=25)
3, Find the value of
(@) 15-(-5)+12+(-8)+(=3) (B) (=32)=(=11)+(-25) +27 =13 4+ (-T)

© 160+ (=150)+(=130)=(-100)  (d) 25-(~15)+(-12)+ 21 - 65— (-38)
4. Fillin the blanks using properties of adddition and subtraction of integers.

@ 10+[5)+ ED1= 100+ +[]
(i) 25-m=-10+|:|

(iif) 20+|:|=|s+|:]

@ 12+37=37+[ |

) 13+[D-2]=[13+(-7)1+|j
(vi) -17+[:]=-17

5, Thedifference between two integers is —10. If first integer is 17, then find the other integer ?

Write three consecutive odd integers succeeding (-93) ?

7. At sunrise, the outside temperature was 7° below zero. In the afternoon the temperature
rose by 13° and then fell by 8° at night. What was the temperature at the end of the day ?

8. Manjeet Singh has a bank balance of ¥ — 430 at the start of the month ? What was the bank
balance, after he deposited T 250 ?

9. Mount Everest, the highest elevation in Asia, is 29028 feet above the sea level. The Dead
Seais 1312 feet below the sea level. What is the difference between these two elevations ?

10. In aquiz, Team A scored 70, — 15, 30. Team B scored -15, 70, 30 and team C score 30,70,
~15. Which team scored better 7 What conclusion do you draw ?

Ll

Team A Team B Team C

udiineu witn wdirou
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BEY o HRNE SO R T <]
. Ina competition there are 5 Teams and three rounds. The ‘c:,ﬁf (}::LI;:; !lt;;ir’z“p‘:: ‘iven
below in the table. Complete the table and find, the teams at 1s% —-—-I-I-I.Ti
Teams A B C D L
I 7 -9 8 7 -6
] 3 5 -2 0 7
Total after
'wo round
— ]
l ' =% -3 =5 4
B 4 3 2
I
Multiple choice questions :-
D 5)+5)=
(@ -10 ® 5
@ 10 @ '
@) 10)+(-12) =
o ) 22
(e) -22 @ 2
@) (=1)=(-1)= S
il ® -1
(d) None of these

(iv) Which of the following statements is incorrect ?
(@  Sum of two integers is also an integer. i
(5)  Forall integersaand b, a + b = p +a
(c)  Difference of two integers is also an integer.
(d)  Subtraction of integers is commutative.
(v)  Which of the following is correct ?
@ N-@3)=3-(-7
) -D+3=3+ -7
©  ED+S)+E3) = [=1) + (5)] - =3)
(d)  None of these
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PROPORTIES OF ADDI‘HON OF INTEGERS

2.

Closure property : The sum of two integers is also an integer. i.e if a and b are integers
then a + b is also an integer. For example 2.4+ (-4) = -2, (-3) +(7)=4,8+5= 13
Commutative property : For all integers a and b

a+b = b+a

For example 548 = 8+5=13

Associative property : For all integers a, b.and ¢

, a+Mb+c) = (a+b)+c

For example -2)+(5+9) [(-2)+ 5] +9
= (-2) + (14) =(3)+9

I

| I

= 12 | =12

s -2)+(5+9) = [(-2)+5]+9

Additive identity : The integer ‘0’ is such thata + 0=0 + a = a ‘0’ is called the additive

identity of integers.

Additive Inverse : For any integer a, we have (-a) +a=0=a + (-a)

The negative of an integer a is (-a) and the sum of an integer and its negative is ‘0’
Additive inverse of a is (-a)
Similarly additive inverse of (—a) is—(-a) =a



6

HUET'»‘ Aftmret @ WG @ FE (Properties of Subtraction of Integers)
. s ge : @ dues et e ofga fie fifiprr JET & TR HWET amT p 5

fuas et 9% 3t (o - b) DT el Ayas gt 31

Gogased 1 2=-57 (=1l
2. Ayew At met werh e gyeehedr g e AT 3

foges & (5 - 8 | (8- 5)
- | =3
§-8 # 8-5

3, wmmmwmmﬁbw&

foUes & (7 - (-2)) - | l y X,
=[7+2]-1 | =7-[-3]
=9-1 : =7+3
=8 | =10
[7 - (-2)]-1 # 7= [(=2)-1]

-8

4. a@ﬂ'ﬁfﬂ’ﬂ"‘a,(axﬂ)ma 0=a#0-a



